
E378179

Revision A

Quick Installation Guide

P/N E378179

Z20 POS Stand (Gen2) 

www.elotouch.com



Z20 POS Stand Gen2 (10 inch) 

 VESA Cover Top 10" 
Qty.1 

 VESA Cover Bottom 10" 
Qty.1 

Base Plate 
Qty.1  Z20 POS Stand Gen2 (10 inch)

M4x6,Pan-HEAD,SCREW
Qty.1,Bag “A”

M4x8,Flat-HEAD,SCREW
Qty.4,Bag “B”

M3x6,Pan-HEAD,SCREW
Qty.1,Bag “C”

Box Contents

 150W Power Supply  
Qty.1 

 Cable Tie  
Qty.1 



 150W Power Supply  
Qty.1 

 Cable Tie  
Qty.1 

USB-C Cable  
Qty.1 

M4x6,Pan-HEAD,SCREW
Qty.2,Bag “A”

M4x8,Flat-HEAD,SCREW
Qty.4,Bag “B”

M4x20,Flat-HEAD,SCREW
Qty.4,Bag “C”

Box Contents

Z20 POS Stand Gen2 (15 inch) 

 VESA Cover Top 15" 
Qty.1 

 VESA Cover Bottom 15" 
Qty.1 

Base Plate 
Qty.1 

 Z20 POS Stand Gen2 (15 inch)

CFD Cover
Qty.1 



Step 3:

Step 4:

Step 1:

Step 2:

Monitor Installation

Remove the screws and remove the I series Cable Cover.

Slide the 2 screws in Step 1 into the VESA stand slot and tighten 
them.

Adjust the VESA Plate on the base to the appropriate position, as 
shown in the figure, then take 2 M4 screws from bag “B” and install 
them into the holes under the VESA and tighten the screws. 

Note: All VESA screws should be screwed tightly into 12 in-lb (1.4 N-m).

Install the 2 M4 screws in bag “B” to the I series 75*75 VESA area, do 
not fully tighten the screws, and place their tops at approximately 
3/16 inch on top of the back of the I series.



Step 5:

Step 6:

Step 7:

Step 8:

Connect the power and USB-C cables from the base to the I series, 
as shown in the figure, then restore the Cable Cover of the I series.

Rotate the screen to an appropriate position and slide the top VESA 
Cover to install it into the stand.

Turn the hinge and flip the I series to the back, then slide the VESA 
Cover at the bottom to install it onto the VESA stand.

Fix the VESA Cover in place with the M4 screw in bag “A” to complete 
the installation and turn the monitor to a suitable position. 

USB-C Cable

Power Cable



Step 2:

Step 1:

Step 4:

Step 3:
Loosen the screws and remove the cable cover door on the base.

Remove the screws and slide it down to remove the front cover of 
the base.

Remove the screws and remove the Cable cover of CFD.

Connect the USB-C cable as shown in the figure to install the CFD 
cable lamp.

CFD Installation (only for Z20 Gen2 15")



Step 5:

Step 6:

Step 7:

Step 8:

Restore the CFD Cable cover.

Adjust the cable and pass it through the CFD cover cable hole, then 
lock CFD and the CFD cover together using 2 M4 screws from 
bag “C”.

Adjust the cable and pass it through the cable hole on the base and 
connect USB-C to the base.

Slide the CFD Cover upwards to install it onto the base, then tighten 
the screws in Step 2.



Step 11:Step 9:

Step 10:

Lock the remaining 2 screw holes using 2 M4 screws from bag “C”.

Restore the base cable cover door.

Turn the screen to a suitable position to complete the installation, 
as shown in the figure. 



Step 1:

Step 2:

Step 3:

Step 4:

Cable Management

Loosen the screws and remove the cable cover door on the base.

Connect the power, LAN and external device to the base, and pass 
the cables through the hole at the bottom of the stand.

Fix the cables in place with the cable tie as shown in the figure.

Restore the cable cover door of the base to complete the 
installation.



Step 3:

Step 4:

Step 1:

Step 2:
Place the base on the Base Plate and align the 4 screws in Step 2 with 
the 4 holes on the Base Plate, then slide the base backwards to lock 
the screws into the holes. 

Locking the Base

Note: Z20 Gen2 10" skip to Step 3 directly.

Remove the 4 screws and remove the base weight. 

Re-install the 4 screws onto the base.

Fix the Base Plate onto the desktop through the four holes, as shown 
in the figure. (Choose the screws according to the material of the 
countertop.)



Step 5:

Step 6:

Step 7:

Step 8:

Loosen the screws and open the cable cover door on the base.

 Tighten it with the M4 screw in bag “A” (Tighten with the M3 screw in 
bag “C” for Z20 Gen2 10").

Restore the cable cover door of the base.

The base mesa is fixed and the installation is completed.



© 2023 Elo Touch Solutions, Inc. All rights reserved.

 

Tel +1 408 597 8000 

EloSales.NA@elotouch.com

Europe(EMEA)

 
Tel +32 (0)16  930 136 

EMEA.Sales@elotouch.com
Tel +86 (21) 3329 1385 

EloAsia@elotouch.com

The information in this document is subject to change without notice. Elo Touch Solutions, Inc. and its Affiliates (collectively “Elo”) 

 
or computer language, in any form or by any means, including, but not limited to, electronic, magnetic, optical, chemical, manual, 
or otherwise without prior written permission of Elo Touch Solutions, Inc.   

Elo and the Elo logo are either trademarks or registered trademarks of Elo Touch Solutions, Inc.

makes no representations or warranties with respect to the contents herein,  and specifically disclaims  any implied warranties 
of merchantability or fitness for a particular purpose. Elo reserves the right to revise this publication and to make changes from 
time to time in the content hereof without obligation of Elo to notify any person of such revisions or changes. 

No part of this publication may be reproduced, transmitted, transcribed, stored in a retrieval system, or translated into any language

Asia-PacificAmerica

EloTouch.comLearn more about Elo at


	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12

